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Example 1: Solve an Applied Minimization Problem

A manufacturer of animal food makes two grain mixtures, G; and G,. Each
kilogram of G, contains 300 grams of vitamins, 400 grams of proteéin, and
100 grams of earbohydrate. Each kilogram of G, contains 100 grams of
vitamins, 300 grams of protein, and 200 grams of carbohydraté. Minimum
nutritional guidelines require that a feed mixture made from these grains
contain at least 900 grams of vitamins, 2200 grams of protein, and 800-grams
of carbohydrate,G, cosf‘i $2.00 per kilogram to produce, and G, costs $1.25
per kilogram to produce. Find the number of kilograms of feach grain
mixture that should be produced to minimize cost.

Step 1: Define the variables.
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Step 2: Write a system of inequalities.

Dbyechve Funchon s

B
f 300&*!00\/2_‘10‘0 H3x+y—>°} —> Y = 3x+4q 0
<ﬂL*OD)(¢$OOY_?.'2-2«OD — «-f,”-g\/zm_ _ tﬁg”%)(,x %g*
g§%|00x+203\/28’oo > X4+2y 2§ —> \‘ﬁz""iK’“H

x>o :j>o

\

(om c= ‘?—(0)*’ 25(%)

G Tl I ' ﬂ’m manvfachaver needS
S e e ‘T>x to produce \Kgmﬂ Gy and

9 n \’z. 13 v IS !v

Li K ‘f" 2 o *Q‘L A L’ )( A _,__,,__/T#,,_,_._..M-WW— w«-~~~:——~‘u«-—j
P . i 3\/ #vﬁlﬂld PR 7/7 o) (= 2 (V)* )_u;‘{g,) J
| L{\L W 2:1 e Cltg wwwwww
Yy -fy=-32 L il
"f —5;—--—/0 (u2) C= uq)uw&)
s oty (=050
i ,2'(747‘""“3 (3,0) C= 2&)+125(0)
e g ,'-;,) Bl Gy

b Ko of G, b mimnde
) CA)S‘\’ Od”ﬁqg)/"ﬁ

£



